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QUESTION 1

You want to ensure the highest path resilience and performance increase to the storage stack on your FAS8700 cluster.
In this scenario, which two types of stack cabling are available to use? (Choose two.) 

A. quadpath HA 

B. mixed-mode 

C. single path 

D. multipath HA 

Correct Answer: BD 

Reference: https://www.cisco.com/c/en/us/products/collateral/switches/catalyst-9300-series-switches/white-paper-
c11-741468.html 

 

QUESTION 2

You are setting up a new AFF A400 that will serve iSCSI LUNs. You will have four iSCSI SVMs that each need to
connect to an Internet Storage Name Service (iSNS) for discovery and management purposes. In this scenario, which
network interface is needed for each SVM to register with the name service? 

A. SVM data LIF 

B. SVM management LIF 

C. node management LIF 

D. intercluster LIF 

Correct Answer: D 

 

QUESTION 3

While testing a recently installed FAS8700 cluster, a node fails. You now need to replace the impaired node. In this
scenario, which two statements are true? (Choose two.) 

A. You must move the boot device from the impaired node to the replacement node. 

B. The boot device must remain intact and must not be removed from the impaired node. 

C. You can change any drives or disk shelves as part of this replacement procedure. 

D. A controller model of the same type must be used to replace the impaired node. 

Correct Answer: AD 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1147156 (2) 
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QUESTION 4

A storage administrator is trying to upgrade a pair of FAS2520s with internal SATA storage to a new 2-node FAS8300
cluster. The storage administrator wants to preserve the existing data. In this scenario, which two capabilities are
available to the storage administrator? (Choose two.) 

A. the ability to move the volumes from the old nodes to the new nodes 

B. the ability to pull out the tray of internal disks of the FAS2520s and reseat the tray in the internal storage of the
FAS8300s 

C. the ability to create a 4-node MetroCluster across the four nodes 

D. the ability to convert the FAS2520s to disk shelves and attach them to the new nodes 

Correct Answer: CD 

 

QUESTION 5

Before installing an 8-node cluster for a customer, you want to validate compatibility with existing hardware. Which two
tools would you use to validate the configuration? (Choose two.) 

A. Active IQ Config Advisor 

B. Interoperability Matrix Tool 

C. Active IQ System Manager 

D. Hardware Universe 

Correct Answer: AB 
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